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10002 6A28H (1) 9:20~10:08 EVE$: ) —RERE20 BIER - WREFERET
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10005 6H28H (L) 9:52~10:24 FEIRG — % ERE26  FHHE (RAEE) 2
10006 6A278 (£) 14:55~15:43 EVES: —fi%ERES BB (SHHE #2)2
10007 68278 (%) 16:23~17:03 EYE-$E) — i ERE10 FBHE (1) 2
10008 6278 (&) 14:15~14:55 EVE$: —fi%ERET  BHE(SHHE B
10009 6278 (&) 10:32~11:12 FoRiG —iERES  BIE(EHHE SED3
10010 6278 (%) 14:15~14:47 EIRIG —h%EREIS  BHE(RF—)2
10011 6278 (&) 10:08~10:40 FEIRG —iERE12 BiE(SOHE RED 1
10012 6H28H (1) 10:08~10:56 EVES: —RERE21  BIES - WREFRE2
10013 6288 (%) 11:00~11:40 EAE3 —h%ERE19  MESF-BIMES
10014 6H28H (1) 11:04~11:44 EIRG —RRERE28 TBhE (REHIHIEE) 2
10015 6H28H (L) 10:24~11:04 EIRG —RiERE27  BhE (REHIHIEE) 1
10016 6A278 (£) 9:52~10:32 EVE$: —iERE4 BIE(EHHE SED2
10017 6A288 (1) 13:30~14:10 FEoxiG —h%ERE23 HE-O—TAR—F—1
10018 6278 (&) 16:23~17:03 EVE$: —RERE10  FB4E (FF1iT)2
10019 6A27H (£) 11:12~11:44 FoRiG —fi%ERE6 BHE (R )1
10020 6A278 (£) 11:20~12:00 EIRG — A ERE14  RBHE(SHHE RED3
10021 6278 (£) 11:12~11:44 Foniy —fi%ERE6 BHE(R )1
10022 6A278 (£) 14:55~15:43 EVES: —fi%ERES BB (SHHE #2)2
10023 6278 (£) 16:15~17:03 FEIRG —AERE18  FEHE (T Dth)2
10024 6A28H (1) 10:56 ~11:44 EVES: —RERE22 BIES - WREFRES
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10028 6278 (&) 16:23~17:03 EVES: —RERE10  FB4E (7)) 2
10030 6A28H (1) 10:56~11:44 FoniG —RERE22 BIES - WREFRES
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10032 6A28H (1) 9:20~9:52 FEIRG — % ERE25  FBHE (RRE) 1
10033 6278 (&) 9:20~9:52 EVE$: —iERE3 BIE(EHHE SR
10034 6A27H (£) 14:15~14:47 FEIRG —hi%ERE1S  FBHE (R —)2
10035 6A278 (£) 9:52~10:32 EVE$: —iERE4 BIE(EHHE SED2
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10038 6A278 (£) 15:27~16:15 EIRG —i%ERE1T RBAE(T D)1

10039 68278 (£) 15:20~15:52 RS — A% ERE2 mENFE-Bo52



BIEFBE-DEFIHAHREE RRER—KEE

HERAES %% H vy a ki =15 tyials tyiaT—v
10040 68278 (&) 14:55~15:43 EVES —h%ERES B (EHHE #2)2
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10042 68278 (%) 9:52~10:32 EVES —h%ERE4 i (EHHE 4182
10043 68278 (£) 9:20~9:52 EVES —h%ERE3 B (EHHE AR
10044 68278 (%) 15:43~16:23 EVES —h%ERE9 FohE (FH7) 1

10045 68278 (£) 15:27~16:15 HIRIG —f%ERE17 BHE(Z D)1

10046 6A28H (1) 9:20~10:08 EVES —h%ERE20 BES - I PREFRE
10047 68278 (%) 11:12~11:44 EVES — % ERE6 FoHE (FF—) 1

10048 6A28H (1) 14:10~14:50 EVES —hERE24 BE-O—TA4R—F—2
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10058 6A828H (1) 9:20~9:52 HEIRIG —iERE2S  FHHE (RREE) 1
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10069 68278 (£) 15:43~16:23 EVES —h%ERE9 FohE (F7) 1
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10075 68278 (%) 10:40~11:20 HEIRIG —h%ERE13  RBHE(SOHE WED2
10076 6H288 (1) 13:30~14:10 EVES:S — A% ERE23 BE-O—T11—5—1
10077 6A28H (1) 9:20~10:08 EVES —h%ERE20 BES - R EE
10078 68288 (1) 10:24~11:04 HEIRIG —h%ERE27 RBHE(REIGIEE) 1
10079 68278 (£) 9:52~10:32 EVES: — % ERE4 i (BHHE 418D 2
10080 6A28H (1) 10:08~10:56 EVES —h%ERE21 BES - b PREFRE2
10081 6A28H (1) 13:30~14:10 EVES —h%ERE23 BT
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10110 6A828H (1) 10:08~10:56 EVES —h%ERE21 BHES - b PREFRE2
10111 68278 (£) 11:20~12:00 HEIRIG —h%ERE 14 i (EHHE WNED3
10112 6A278 (£) 9:20~10:08 FEIRG — R ERE 11 NAXxa5—TFU+EX
10113 6A28H (1) 10:24~11:04 HEIRIG —h%ERE27 RBHE(REIGIEE) 1
10114 68278 (£) 14:47~15:27 ERESS — A% ERE16 FoiE (fig st iit)

10115 68278 (£) 15:27~16:15 FEIRIG — A% ERE1T FEHE(Z D th) 1

10116 68278 (%) 15:27~16:15 HEIRIG —A%ERE17 BHE(Z D)1

10119 68278 (£) 14:15~14:55 EVESS — A% ERET i (EHHE #2)1
10120 68278 (£) 10:40~11:20 ERESS —h%ERE13 i (EHHE WED2
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10133 68278 (%) 11:20~12:00 HEIRIG —hLERE14 RBHE(SOHE WED3
10134 68278 (%) 10:32~11:12 EVES —R%ERES e (E6HE S1ED3
10135 68278 (£) 10:32~11:12 EVES:S — A% ERED i (BHHE 4HED3
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50004 6A27H (£) 9:20~10:08 FEIRG — A ERE 11 NAXFa5—TFI+ERX
50005 68278 (£) 14:15~14:55 EVESS — RS ERET i (BHHE #2)1
50006 68278 (£) 15:27~16:15 FEIRIG — % ERE1T FEHE(Z D th) 1

50007 68278 (£) 15:20~15:52 A3 — A% ERE2 mENFE- B2



